RECEIVED

Kansas Corporation Commission Oil & Gas Conservation Division

MAY 2 4 2004

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM KCC WICHITA WELL HISTORY - DESCRIPTION OF WELL & LEASE

WELL HISTORY - DESCRIP	TION OF WELL & LEASE
Operator: License # 31093 Name: Becker Oil Corporation	API No. 15 - 135 24260 00 00 County: Ness
Address: 122 E. Grand, Suite 212	NESESW_Sec30 Twp20 S. R21 East
City/State/Zip: Ponca City, OK 74601	990 feet from (S) / N (circle one) Line of Section
Purchaser:	2289 feet from E / W (circle one) Line of Section
Operator Contact Person: Clyde M. Becker, Jr.	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>303</u>) <u>816-2013</u>	(circle one) NE SE NW SW
Contractor: Name: Cheyenne Drilling, Inc.	Lease Name: Wittman-Knoll Well #: 1
License: 5382 MAY 1 8 2004	Field Name: Wildcat
James Musgrove	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 2210 Kelly Bushing: 2217
✓ New Well Re-Entry Workover	Total Depth: 2468 Plug Back Total Depth:
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 231 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	Building Shild Management Dian A . T. O. A
Original Comp. Date:Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) 71000
Deepening Re-perfConv. to Enhr./SWD	Chloride content 71000 ppm Fluid volume 400 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	
Other (SWD or Enhr.?) Docket No	Operator Name:
2/25/04 2/29/04 3/1/04	Lease Name:License No.:
Spud Date or Date Reached TD Completion Date or	Quarter SecTwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 13 107 for confidentiality in excess of 12 months). One copy of all wireline logs of TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regular herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: Chyche M / Seche of	KCC Office Use ONLY
Title: Vice President Date: 5/14/04	Letter of Confidentiality Received
Subscribed and sworn to before me this 14 day of May	If Denied, Yes Date:
20_04	Wireline Log Received
Notary Public: Camilla & Milly	Geologist Report Received
Notary Public: Chandle & III Let	UIC Distribution

Side Two

Operator Name: Beck	er Oil Corporati	on		Lease	Name: _	Vittman-Knoll		_ Well #:		
Sec. 30 Twp. 20			t ✓ West	County	Ness	and the contest of the state of	Logical de la constante de la	and the second of the second o		
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reconstruction Electric Wireline Logs	and closed, flowing very, and flow rate	g and shut s if gas to	in pressures, t surface test, a	whether sh long with fi	ut-in pre	ssure reached s	tatic level, hydro	static pressure	es, botton	n hole
Drill Stem Tests Taken (Attach Additional S		⊘ Y	es No		 ✓L	og Formatic	ní (Top), Depth a	nd Datum	□s	Sample
Samples Sent to Geol	r	ΠY	es No		1	Name Cheyenne SS				Datum +1854)
Cores Taken	ogioui ou voj		es No		1	Blaine Anhydrite			•	÷1482)
Electric Log Run (Submit Copy)		☑ Y			1	Cedar Hills SS			(-	+1395)
List All E. Logs Run:					Base	e Cedar Hills		1028	•	+1189)
LIST ATT E. LOYS MUIT.					Ston	e Corral Anh	ydrite	1385	•	+832)
Compensated	Neutron/Den	sity PE	Log		Well	ington Group)	1793	•	+424)
					Cha	se Group		2275	(-	-58)
					Krid	er		2302	(-	-85)
		Repo	CASING ort all strings set-c		Irface, inte	w Used ermediate, product	ion, etc.			
Purpose of String	Size Hole Drilled		ze Casing et (in O.D.)	Wei		Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	12 1/4	8 5/8		24		231	Common	160	3%сс,	2%gel
	and any and a five days for the day set had now account of the third of the first set of the set of		acertinal and excitors and a first manufactures are exempted in the district our services manufactures and the		agu, an thiride distants in the construction of the A					Magazinan di area Anne da Landa andre de la
		<u>.</u>	ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD				
Purpose: Perforate	Depth Top Bottom	Туре	of Cement	#Sacks Used			Type and F	Type and Percent Additives		
Protect Casing Plug Back TD Plug Off Zone									***************************************	

Shots Per Foot	Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated				Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth					
	ell kirja sinni kirkin sama mariq likkin sili ili ili ili ili ili ili ili ili il		innen mendere enn hekenis en meden menne men mederaksiken ken				inne de marija karda fijis inga koma dina kana anga kara anga dina a			
		Mark Constitution of the Assessment		1	all de mente escalado de la constitución de la cons					
							What his his which there should be transmit who have been play in destroyed	hade den version and a service of experience and a service		
Account of the second of the s									***************************************	
TUBING RECORD	Size	Set At		Packer A	At	Liner Run	Yes No			
Date of First, Resumerd	Production, SWD or E	Enhr.	Producing Met	-	Flowin	g Pumpir	ng 🔲 Gas Lil	it Oth	er (Explain))
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er B	bls. 0	Sas-Oil Ratio	negative contraction of the cont	Gravity
Disposition of Gas	METHOD OF (COMPLETE	NO			Production Inter	val			
☐ Vented ☐ Sold (If vented, Sub	Used on Lease umit ACO-18.)		Open Hole	Perf.	. 🗆	Dually Comp.	Commingled	and an incident the second state of the second state of the second secon	material franchistation and a materi	vierno franchistorio socializaren la portuguida

BECKER OIL CORPORATION

CLYDE M. BECKER PRESIDENT

122 E. Grand, Suite 212 Ponca City, Oklahoma 74601 (580) 765-8788

CONFIDENTIAL

RECEIVED

MAY 2 4 2004

KCC WICHITA

CLYDE M. BECKER, JR.
VICE PRESIDENT, EXPLORATION
11299 FOXTON RD.
MAILING ADDRESS:
P.O. BOX 1550
CONIFER, COLORADO 80433
(303) 816-2013

Becker Oil Corporation Wittman-Knoll #1 ACO-1, page3

Formation Tops continued KCC MAY 1 8 2004 CONFIDENTIAL

Name	Тор	Datum
Winfield	2359	(-142)
Towanda	2426	(-209)
TD (Log)	2468	(-251)
TD (Drlr.)	2470	(-253)

ALLIED CEMENTING CO., INC. P.O. BOX 31

RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860 RECEIVED

MAY 2 4 2004

KCC WICHITA

INVOICE

Invoice Number: 092535

Invoice Date: 03/09/04

Becker Oil Corp. 122 E. Grand Sold To:

Suite #212

Ponca City, OK

74601

CONFIDENTIAL

Cust I.D.:.: Beck P.O. Number.:: Wittmanknoll#1

P.O. Date...: 03/09/04

Due Date : 04/08/04 Terms...: Net 30

Item I.D./Desc. Oty	. Used	Únit	Price	Net	TX
Common Gel Chloride Handling Mileage (23) 168 sks @\$.05 per sl	160.00	SKS	7.1500	1144.00	T
	3.00	SKS	10.0000	30.00	T
	5.00	SKS	30.0000	150.00	T
	160.00	SKS	1.1500	193.20	E
	23.00	MILE	8.4000	193.20	E
Surface Mileage pmp trk Centralizers	1.00	JOB	520.0000	520.00	E
	23.00	MILE	3.5000	80.50	E
	2.00	EACH	180.0000	360.00	T
All Prices Are Net, Part Date of Invoice. 1 1/2 If Account CURRENT tall ONLY if paid within 30	2% Charged Thereaf ke Discount of \$24	ter. Tax. <i>62.09</i> Paym	otal: ents:	2670.90 106.09 0.00 2776.99	

ALLIED CEMENTING CO., INC. P.O. BOX 31

P.O. BOX 31 RÜSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860 RECEIVED

MAY 2 4 2004

KCC WICHITA

* INVOICE

Invoice Number: 092557

Invoice Date: 03/09/04

Sold Becker Oil Corp. To: 122 E. Grand

Suite #212

Ponca City, OK

74601

IKCC
MAY 1 8 2004
CONFIDENTIAL

CONFIDENTIAL

Cust I.D.... Beck

P.O. Number. .: Wittman-Knoll

P.O. Date ...: 03/09/04

Due Date:: 04/08/04 Terms...: Net 30

Item I.D./Desc:	Oty Used	Unit	Price	Net	ΤX
	120.00	SKS	7.1500	858.00	Т
Common	80.00	SKS	3.8000	304.00	T
Pozmix	10.00	SKS	10.0000	100.00	Ť
Gel FlöSeal	50.00	LBS	1.4000	70.00	
Handling	212.00	SKS	1.1500	243.80	Ī
Mileage (23)	23.00	MILE	10,6000	243.80	T
212 sks @\$.05 pe					
Rotary Plug	1.00	JOB	520.0000	520.00	${ m T}$
Mileage pmp trk	23.00	MILE	3.5000	80.50	\mathbf{T}
Wood plug	1.00	EACH	23.0000	23.00	\mathbf{T}
			<i>:</i>		
All Prices Are Net	, Payable 30 Days Fo	llowing Subt	otal:	2443.10	
	1/2% Charged Therea		1 W + 1 1 1	153.92	
	take Discount of \$2			0.00	
	n 30 days from Invol			2597.02	
Ţ (
			20 P. S. 30		~
			· · · · · · · ·		
	The same of the sa	•			
	*,				